SECTION II

Sol POWER SUPPLY

Sol TERMINAL COMPUTERTM



i
PROCESSOR TECHNOLOGY CORPORATION ;

Sol POWER SUPPLY SECTION II

g S INTRODUCTION

The Sol power supply consists of a regulator board plus ad-
ditional chassis-mounted components. This section covers assembly
and test of the complete power supply.

2 2 PARTS AND COMPONENTS
2. Sol Regulator (Sol-REG)

Check all parts and components against the appropriate
"parts List", Tables 2-1, 2-2 and 2-3. If you have difficulty in
identifying any parts by sight, refer to Figure 3-1 on Page III-5
in Section III of this manual.

2oyl Power Supply Subchassis and Components

In addition to the Sol-REG, you will need the following
parts and components supplied with the Sol Cabinet-Chassis Kit.
Check these parts against the appropriate "Parts Iistie)"; Tables
6-1 and 6-2, in Section VI and separate them from the other cabinet-
chassis parts.

Fan Closure Plate
Power Supply Subchassis (L-shaped)

Rev A

4 each 4-40 x 3/16 Machine Screw
4 each 4-40 x 5/16 Machine Screw
4 each 4-40 Hex Nut

loléach #4 Lockwasher

l4zéach 6-32 x % Machine Screw

14 each 6-32 Hex Nut

16 each #6 Lockwasher
3 each 8-32 x % Machine Screw
3 each 8-32 Hex Nut
3 each #8 Lockwasher

11 each #6 x % Sheet Metal Screw
1 each #6 x 5/16 Sheet Metal Screw
2 each #4 Solder Lug
2 each %" Spacer, 4-40 Tapped

=



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

Table 2-1. Sol Regulator Parts List.

INTEGRATED CIRCUITS DIODES and RECTIFIERS
1 1458 CPI (U2) 1 MDAlOlA (FWB2)
1 7812 (ul) 1 MDA970-1 (FWB1)
1 7912 (uU3) 1 IR106B2 oré@%ﬁi&iﬁi}SCRl)
2 1N4001 (D3 & 4)
TRANSISTORS 1 1N4148 (D2)
1 1N5231B (D1)

2 2M2222 (Q2 & 3)
1 T1P41 (Ql)

RESISTORS CAPACITORS
1 D.1 ‘ohm, =3 watt 5% 2 A ufd, —dier
of - J NSRS, % 3 15 ufd, tantélum dipped
* - onm, %4 watt, 5% 2 2500 ufd, tubular electrolytic
L 550 ohm Wkt | | +15.000 whe  etactrilisvie
2 1 K ohm, % watt, 5%
4 10 K ohm, % watt, 5%
1 56 K ohm, % watt, 5%
1 1690 ohm, % watt, 5%
1 4020 ohm, watt, 5%

a7

CABLE ASSEMBLIES

1 *Single wire, 3" (Fuse Holder to Power Switch)
1 *single wire, 3%" (Power Switch t0 Commoning Block)
1 Two wire, 10" (C8 to Regulator Board)

;]

*Chassis-mounted component

IE~-2




PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

Table 2-1. Sol Regulator Parts List (Continued).

MISCELLANEQUS
‘w’ﬂl Sol REG Circuit Board
W1 Heat Sink, 690-220-P
Heat Sink, 203-AP
v’} Heat Sink, aluminum

Coax Connector, female* (Video Output)
Coax Connector, male (Video Output Cable)
Coax Connector Adapter Sleeve (Video Output Cable)
*AC Receptacle, female
*Fuse Holder

*SPST Power Switch, pushbutton (S5)

AC Power Cord

*Commoning Blocks
*Clamp for cC8, 1%"

Tie Wraps

Mica Insulators

4-40 x 7/16 screw

4-40 x 5/8 screw

4-40 Hex Nut

6-32 x % screw, metal

6-32 x % screw, Nylon

6-32 Hex Nut :

#4 Lockwasher, internal Footh

Length Solder

-

H 0w NFRF®ODERFEFNDFERRREERBRERNRF R

'

*Chassis-mounted component

.

II-3



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

Table 2-2. Sol-10 Power Supply Parts List.

The Sol-10 Power Supply Kit includes all Sol-REG parts listed in
Table 2-1 plus the following components:

1l *Power Transformer, T1
1 *Fuse, 3 amp Slo-Blo (F1l)

*Chassis-mounted component

Table 2-3. Sol-20 Power Supply Parts List.

The Sol-20 Power Supply Kit includes all Sol-REG parts listed in
Table 2-1 plus the following components: 5

RESISTORS CAPACITORS
1l *39 ohm, 2 watt, 5% 1 *54,000 ufd, electrolytic
RECTIFIERS : TRANSFORMERS

1 *MDA980-1 (FWB3)

¥

1 *Power Transformer, T2

MISCELLANEOUS

1 *Fan 1 b5-wire Cable Assembly

1 *Fan Guard 1 *Clamp for C9, 2%"

1l *Fuse, 3 amp Slo-Blo 2 *#10 solder lug, internal tooth
*Chassis-mounted component .. ,

I11-4.



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

2.3 ASSEMBLY TIPS
23} Electrical

For the most part the assembly tips given in Paragraph 3.2
of Section III (Page III-1l) apply to assembling the Sol regulator
board and power supply.

In addition, scan Section II completely before you start to
assemble the power supply.

e 3.2 Mechanical

1. If you do not have the proper screwdrivers (see Para-
graph 2.5), we recommend that you buy them rather than using a knife
point, a blade screwdriver on a Phillips screw, and other makeshift
means. Proper screwdrivers minimize the chances of stripping
threads, disfiguring screw heads and marring decorative surfaces.

2. To assure a correct fit and tight assembly, be sure you
use the screws specified in the instructions.

3. Lockwashers are widely used in the power supply assembly
so that screws will not loosen when subjected to stress or vibration.

When a lockwasher is specified, do not omit-it and make sure you
lnstall LIt corEectly.

4. Some instructions call for prethreading holes. This is
done to make assembly easier by giving you maximum working space for
installing relatively hard-to-drive sheet metal screws. If you by-
pass prethreading instructions you will only make subsequent
cabinet-chassis assembly more difficult.

To prethread a hole, insert specified screw in the hole
and position it as straight as possible. While holding the screw in
this position, drive it into the metal with the proper screwdriver.
If started straight the screw will continue to go straight into the
metal so that the head and sheet metal surfaces are in full contact.

5. The diameter of the shank (threaded portion) of a screw
increases in relation to its‘number. For example, a 6-32 screw is
larger in diameter than a 4-40 screw. Also, a #8 lockwasher is
larger than a #4 lockwasher. '

-

2.4 ASSEMBLY PRECAUTIONS

The precautions concerning soldering and the installation
and removal of integrated circuits given in Paragraph 3.3 of Section
IIT (Page III-6) also apply to assembling the Sol regulator board.

Rev A II-5



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

2.9 REQUIRED TOOLS, EQUIPMENT AND MATERIALS

The following tools, equipment and materials are recommended
for assembling the Sol regulator board:

1. Needle nose pliers

2. Diagonal cutters

3. Sharp knife

4., Screwdriver, thin %" blade

5. Screwdriver, #2 Phillips

6. Controlled heat soldering iron, 25 watt
7. 60-40 rosin-core solder (supplied)

8. Volt-ohm meter

2.6 ORIENTATION
2.6.1 Sol-REG PC Board

Location €5 (2500 ufd capacitor) will be located in the
lower right-hand corner of the circuit board when locations SCR1,
Ql and FWBl are positioned along the top of the board. In this
position the component (front) side of the board is facing up and
the horizontal legends will read from left to right; the other
legends will read from bottom to top. Subsequent position refer-
ences related to the Sol-REG board assume this orientation.

2:9.2 Fan Closure Plate

The large c1rcular cutout will be located in the upper right
qgquadrant of the plate when the heavy gauge doubler plate is facing
up. In this position the rectangular cutouts are on the left, the
front side of the plate is facing down, the back side is facing up,
and the small circular cutout is at the bottom.

5 4 ASSEMBLY-TEST

NOTE®

" Instructions that apply only to the So0l-20
are precede y an as . i9) ese
instructions if you are assembllng a
Sol-10.

Rev A N , 1I-6



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

2.7. ¢ Fan Closure Plate Assembly

Refer to Drawing No's. 105001 and 105014 in Section X.
(Figure 2-1 shows a completed fan closure plate assembly.)

Figure 2-1. Sol-20 fan closure plate assembly.
(Top of plate in foreground.)

*(V‘/Steg l. Mount cooling fan and guard to fan closure plate.

Insert four 6-32 x %" binder or pan head screws from back
side of fan closure plate. (Use the holes positioned in
each quandrant of the large circular cutout.) Slip fan
guard over screws on front side of plate. Position fan so
_that air flow will be from fropnt to back side of plate and
with 1ts 1&é3ads next to the rectangular cutouts in the place.

Place #6 lockwasher on each screw and secure with 6-32 hex

nat,
WARNING
FAILURE TO INSTALL FAN GUARD MAY RESULT
IN DAMAGE TO THE Sol AND/OR PERSONAL
INJURY.
(V(/Steg . Install power on-off switch in upper rectangular

cutout in fan closure plate.
(Step 2 continued on Page II-8.)

Rev A I1-7



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

4

f

<

(4

4

Rev A

Bend four retainer tabs on switch in and position switch
with terminals facing front side of fan closure plate. Push
switch unit from back side of plate through mounting hole
and bend retainer tabs outward to hold switch in place.

Step 3. Install commoning blocks on front side of fan
closure plate, one on each side of on-off switch.

Position each block with terminal #1 at top and terminal #5
at bottom and attach each block to front side of fan closure
plate with two 6-32 x % binder or pan head screws. Insert
screws from back side of plate, place block over screws, on
front side of plate, put #6 lockwasher on each screw and
secure with 6-32 hex nut.

Step 4. 1Install fuse holder in mounting hole located
between the two rectangular cutouts in the fan closure plate.

Insert fuse holder from back side of plate, position large
tab at top (next to on-off switch) and secure holder to
plate with the large lockwasher and nut supplied with holder.

Step 5. Install AC Power cord receptacle on fan closure
plate.

Position receptacle on front side of fan closure plate over
the rectangular cutout below fuse holder. Orient receptacle
with green lead at the bottom and align the receptacle and
closure plate mounting holes. Insert two 6-32 X 3% binder or
pan head screws from back side of plate through each mount-
ing hole, put #6 lockwasher on each screw and secure with
6-32 hex nut.

Step 6. “Install Temale coaxial connector on fan closure
plate.

Insert connector from front side of plate so that the
threaded end projects through to the back side. Then insert
four 4-40 ¥ 5/16 binder or pan head screws from back side

of plate through the four connector and plate mounting holes.
Place #4 lockwasher on each screw except the upper one which
is closest to the AC receptacle. Secure with 4-40 hex nuts.
(Loawe upper nut+ clnaeat to receptacle loose. )

Step 7. Prepare coaxial cable.

Cut a 13" piece of coaxial cable from that supplied with the
Sol-PC kit. Strip away one inch of the outer insulation at
both ends to expose. .shield. Unbraid shield at one end and
twist it into a single lead. Do the same thing at the other
end. Tin shield lead at each end and solder a #4 lockwasher
lug to each lead. Then remove L" of the inner conductor

insulation at both ends. (See Figure 2-2.)

IT-8



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

l3l|

Figure 2-2. Coaxial cable preparation.

(\l Step 8. Connect coaxial cable to coaxial connector in-
stalled in Step 6.

Solder inner conductor on one end to the pin of the connec-
tor. Remove hex nut on upper connector mounting screw
closest to AC receptacle, place lockwasher lug (coaxial
shield) on screw and reinstall hex nut.

() Step 9. Connect fan closure plate wiring.

(\J,Install the 3%" power switch-to-commoning block cable
supplied with your Sol-REG kit. Connect the female
spade lug end to the upper terminal of the on-off switch
and the commoning block lug end to the #l1 terminal of
the commoning block closest to the fan.

(‘4 Install the 3" fuse holder-to-power switch cable sup-
plied with your Sol-REG kit. (This cable has female
spade lugs at both ends.) Connect one end to the bottom
terminal of the on-off switch and the other to the

. longer male spade lug on the fuse holder.

(“6 Connect the AC receptacle wire closest to the fan to the
other fuse holder lug.
NOTE
The green AC receptacle wire will be
connected .later.
(\‘ Connect other AC receptacle wire to terminal #4 on the

commoning block furthest away from the fan.

*(\A Connect upper wire of fan cord to terminal #3 of the
commoning block closest to fan.

*(a‘ Connect‘léwer wire of fan cord to terminal #5 of common-
ing block furthest from fan.

(q{ Put fan closure assembly to one side.

Rev A I1-9



Sol POWER SUPPLY

P8

4

J

PROCESSOR TECHNOLOGY CORPORATION

SECTION II

Sol-REG Assembly and Test

All assembly drawing information is on the PC board.

solder bridges
similar defects.

Step 10. Visually check Sol-REG board for
(shorts) between traces, broken traces and

If visual inspection reveals any defects, return the board
to Processor Technology for replacement. If the board is
not defective, proceed to next paragraph.

Step 11. Install the following resistors in the indicated
locations. Bend leads to fit distance between mounting

holes, insert leads, pull down snug to board, solder and
trim,
LOCATION VALUE (ohms COLOR _CODE
(v{ R1 = none
(y R2 330 orange-orange-brown
( R3 0. SR brown-black-orange
( J R4 lo K " " "
( V/ R5 IR brown-black-red
(-4/ 6 68 blue-gray-black
( R7 10 K brown-black-orange
(\f RS8 I=ak brown-black-red
(“4’ RO 56 K green-blue-orange
( R10 10 K brown-black-orange
(sd: Rl 1690 brown-blue-white-brown
(/ R12 4020 yellow-black-red-brown

(MJ/Step 12. 1Install U2 (1458CPI) in its location between C2

o

¥

Rev A

and C3. U2 is positioned with pin 1 in the lower left-hand
corner and soldered into place. See "Loading DIP Devices"
in Appendix IV. /

sggg 13. Install diodes D1 (1N5231B), D2 (1N4148), D3 and
(1N4001). Bend leads to fit distance between mounting
holes, insert leads, pull down snug to board, solder and
trim. BE SURE to position D1 with its cathode (dark band)
to the left, D2 and D3 with their cathode at the bottom, and
D4 with its cathode at the top:

Step 14. Install the following capacitors in the indicated
locations. Take care to observe the proper value, type and
orientation, if applicable, for each installation. Bend

leads outward on solder ‘(back) side of board, solder and
trim.

(See NOTE on Page II-11l.)

II-10



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

NOTE

Disc capacitor leads are usually coated
with wax during the manufacturing pro-
cess. After inserting leads through
mounting holes, remove capacitor and
clear the holes of any wax. Reinsert
and install.

LOCATION VALUE (ufd) TYPE ORIENTATION
(NJ( T - 15 Tantalum "+" lead bottom right
(qf c2 ki Disc None
(. T3 sk Disc None
(4, c6 15 Tantalum "+" lead right
(\jf £7 15 Tantalum "+" lead left

(d{ Step 15. Install 2500 ufd capacitors in locations C4 and
C5. Bend leads to fit distance between mounting holes,
insert leads, pull down snug to board, solder and trim. Be
sure to install C4 with its "+" lead to the right and C5
with its "+" lead to the left.

(4( Step 16. Install Q2 and Q3 (2N2222) in their locations.
The emitter lead (closest to tab on can) of Q2 is oriented
toward the left and the base lead toward the bottom. The
emitter lead of Q3 is oriented toward the bottom and the

v{/baae lead toward the right.

( Step 17. Install small black "star-shaped" cooling fin
(heat sink) on Q2 by slipping it down onto the can. Be sure
heat sink does not touch any other component on the board.

(V{lStep 18. Install bridge rectifier FWB2 (MDAlOlA) in its lo-
cation at the bottom of the board. Position FWB2 with its
"+" lead at the top and its "-" lead at the bottom, insert
leads, solder and trim.

(v( Step 19. 1Install large heat sink, Ul and U3 in their loca-
tions on the bottom left corner of the circuit board.

(J‘ Position large black heat sink, (flat side to board)
over the square foil area in the lower left corner of
the PC board. Orient sink so that the two triangular
cutouts in the sink are over the two triangles of mount-
ing holes in the board.

(J‘ Position Ul (7812) on heat sink and observe how leads

must be bent to fit mounting holes. Note that the cen-
ter lead must be bent down approximately 0.2 inches

(Step 19 continued on Page II-12.)

Rev A II-11



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

(~‘ Position Q1 (T1P41), with component nomenclature up, on
heat sink so hole in Q1 package is aligned with the holes
in sink and PC board. Observe how the leads of Ql must
be bent down to fit the pads for Q1 and bend them accord-
ingly. Place rectangular mica insulator between heat
sink and Ql, insert leads (emitter lead to right) and
fasten Ql, insulator and heat sink to board with a 6-32
x % Nylon screw, lockwasher and nut. Insert screw from
back (solder) side of board and drive nut finger tight.

(J{rPosition FWB1 (MDA970-1), with "+" lead to the right, on
heat sink, determine how leads must be bent as you did
for Q1, and bend leads. Insert leads ("+" lead to right)
and fasten FWB1l and heat sink to PC board with a 4-40 x
5/8 screw, lockwasher and nut. Insert screw from back
(solder) side of board and drive nut finger tight.

( Position SCR1 (IR106B2 or MCR106-2) on heat sink with
component nomenclature up and prepare it for installa-
tion as you did Q1 and FWBl. Place circular mica insu-
lator between heat sink and SCR1, insert leads and fas-
ten SCR1, insulator and sink to PC board with a 4-40 x
7/16 screw, lockwasher and nut. Insert screw from back
(solder) side of board and drive nut finger tight.

(Vl Check alignment of heat sink, SCR1, Q1 and FWB2 and
tighten the three mounting screws. Solder all leads and
trim if required.

NOTE

/The heat sink may have to be repositioned
when you mount the Sol-REG on the power
supply subchassis. This will require that
you loosen the mounting screws for SCR1,
Ql and FWB2 and retighten them after repo-
sitioning the heat sink.

(46 Step:2l. Connect two wire cable assembly (C8 to Regulator
Board cable) to regulator. Tin ends without lugs and solder
green (+) lead to pad X2 and white (-) lead to pad X3.

M s

o

Step 22. Test Sol-REG for short circuits. Check for conti-
nuity between FWB1 (MDA970-1) mounting screw and the follow-

ing points: (The resistance should be greater than 20 ohms
in all cases.) v
Vix2 “/Ql,°Base D3, top lead
d s JQl, Collector D4, top lead
J{Tl : -« D1, right-hand lead *D3, bottom lead
gl, Baitter Rl, left-hand lead *D4, bottom lead

*Resistance will be initially low due to C4 and C5, but it
should increase to greater than 20 ohms after a few seconds.

Rev A I1-13



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION I1
(v4/Step 23. Set Sol-REG to one side. —
2.0.8 Power Supply Subchassis Assembly and Test
(\J'Step 24. Mount transformer (Tl for Sol-10, T2 for Sol-20) on
power supply subchassis (L-shaped chassis).
Position transformer as shown on Drawing No. 105001 and attach
it to the subchassis with three 8-32 x % binder or pan head
screws, #8 lockwashers and 8-32 hex nuts. Insert screws from
bottom and outer side of chassis as shown. Place lockwasher
on each screw and secure loosely with hex nuts. Slide trans-
former as close as possible to the edge of the chassis and
tighten nuts.
NOTE
Only one of the holes in the side wall is
used. Use the one that lines up with the
transformer mounting tab.
(V{'Steg 25. Prepare transformer leads.
(\6 Twist the two black wires together except for the last
two inches at the commoning block lug end. e,
(V(rTwist the two green wires together for their full length. =t
(u‘ Twist the two yellow wires together for their full
length.
*(, ) Twist the two blue wires together for their full length.
( ) Step 26. Connect Sol-PC power cable (4-wire cable which
connects to J10 on Sol-PC) to Sol-REG. Tin ends of cable
"= and solder green lead to pad X9, white lead to pad X1, red
lead to pad X7 and white-yellow lead to pad X8.
* ( Step 27. Connect Sol-20 DC power cable (5 wire) to Sol-REG.
Tin ends of cable and solder white lead to pad X4 (above R8),
red-white lead to pad X5 (between C5 and FWB2) and yellow-
white lead to pad X6 (left of C5).
({) Step 28. Connect transformer leads to Sol-REG.
(v Solder green leads to pads Tl and T2, white-yellow lead
to pad T3 and yellow leads to pads T4 and T5 on Sol-REG
circuit board. =
~w_( ) Step 29. Prethread the three Sol-REG heat sink mounting S
holes in the power supply subchassis shown in Drawing No. Ly
105001 with #6 x 5/16 sheet metal screws. Remove screws. ~—

Rev A I1-14



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

(\J Step 30. Place #4 lockwashers on two 4-40 x 3/16 binder or
pan head screws. Insert these screws from the bottom side
of the power supply subchassis through the two mounting holes
located near the middle of the bottom of the power supply
subchassis, one on each side. Place another #4 lockwasher
on the screws and drive each screw tightly into a 4-40 x %
tapped spacer.

(46 Step 31. Position Sol-REG PC board with top edge over the
previously installed spacers. Place #4 lockwashers on two
4-40 % /16 hindor or pan hcad screws and drive sciews .

through Sol-REG board into spacers.

( J Step 32. Attach heat sink on Sol-REG to power supply sub-
chassis as shown in Drawing No. 105001. At this point use
only the two side screws which you used in Step 29 to pre-
thread the holes. (The middle screw will be installed
later.) Place a #6 lockwasher on each screw before driving
it through the sink into the subchassis. Figure 2-4 shows
an assembled Sol-10 power supply subchassis.

Figure 2-4. So0l-10 power supply subchassis assembly.
(Rear of subchassis at left.)

*(d(lSteg 33. Install bridge rectifier FWB3 on power supply
subchassis.
(Step 33 continued on Page II-16.)

Rev A II-15



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY _ SECTION II

Position FWB3 (MDA980-1) on power supply subchassis as shown
on Drawing No. 105001. BE SURE NEGATIVE (-) TERMINAL OF

FWB3 is next to transformer. Insert a 6-32 x % binder or
pan head screw from bottom of subchassis, place #6 lockwasher
on screw and secure with 6-32 hex nut.

*(V{rSteg 34. Connect blue transformer wires to unmarked termi-
nals of FWB3.

*(\AfSteg 35. Install large (2%") mounting ring for C9 (54,000
ufd capacitor) on side wall of power supply subchassis as
shown on Drawing No. 105001.

Position ring over the three mounting holes in the side wall
of subchassis so the clamping screw faces the bottom of sub-
chassis and so it will be accessible from the Sol-REG end of
the subchassis. Insert three 6-32 x % binder or pan head
screws from outer side of side wall through the mounting
holes. Place #6 lockwasher on each screw and secure with
6-32 hex nut. Figure 2-5 shows an assembled Sol-20 power
supply subchassis.

&

N

il
-
h %
i %
i
F

N i

-

LY
¥

Figure 2-5. So0l-20 power supply subchassis assembly.
(Rear of subchassis at left.)

( Step 36. Install small (1%") mounting ring for C8 (18,000
ufd capacitor) as shown on Drawing No. 105001.

(Step 36 continued on Page II-17.)

Rev A II-16



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

Position ring over the two mounting holes located +* -ween
FWB3 and the Sol-REG so that the clamping screw is positioned
between the transformer and FWB3. 1Insert two 6-32 x % binder
or pan head screws from bottom side of chassis through the
mounting holes. Place #6 lockwasher on each screw and secure
with 6-32 hex nut. (Refer to Figure 2-4.)

( Step _37. Mount C8 in its mounting ring, tighten clamping
screw and route Sol-PC power cable between C8 and the trans-
former. (See Figure 2-4.)

(N(/Step 38. Connect white wire of C8 cable to negative (-)
terminal of C8 and green wire to positive (+) terminal of
C8. (This cable was soldered to the Sol-REG when you assem-
bled it.) Remove terminal screws, place #10 lockwasher on
each screw, place cable lugs on screws and drive screws
tightly into appropriate terminals.

*(\6 Step 39. Mount C9 in its mounting ring and tighten clamping
screw. (See Figure 2-5.)

*(\J/Step 40. Prepare R13 (39 ohm 2 watt) for installation on C9.

Solder a #10 lug to each lead of R13. Bend leads of R1l3 to
fit the terminals of 9. -(R13 should £it onC€9%=as shown in
Figure 2-5.)

*(\A(Steg 41. Connect Sol-20 DC power cable (5 wire) and R13 to
C9. Route cable between C8 and transformer.

Remove terminal screws from C9. Place lockwasher, terminal
screw, blue lead of So0l-20 DC cable and one R13 lead on one
terminal screw and drive it into the positive (+) terminal
on G9. Attach lockwasher, white cable lead and other R13

lead to negative (=) terminal on C2 in the same manner.
Tighten both capacitor terminals tightly. 4
CAUTION B“; G ﬂsﬂi t Yoy
LOOSE CONNECTIONS ON C9 CAN LEAD TO ARC- Rﬁ‘ g.-

ING AND SUBSEQUENT POWER SUPPLY DAMAGE.

*( Step 42. Connect blye pigtail of Sol-20 DC cable to positive
(+) terminal of FWB3. (This pigtail has a spade lug at its
free end and is connected to the lug you just attached to
the positive términal of C9.) Connect white pigtail of
Sol-20 DC cable to negative (-) terminal of FWB3. (This
pigtail has a spade lug at its free end and is connected to
the lug you just attached to the negative terminal of C9.)

Rev A I1-17



PROCESSOR TECHNOLOGY CORPORATION

Sol POWER SUPPLY SECTION II

(NJ/SteQ 43. Connect green lead from AC receptacle (mounted on
fan closure plate) to power supply subchassis assembly as
shown in Drawing No. 105001. (Use the #6 x % sheet metal
screw with which you prethreaded the middle Sol-REG heat
sink mounting hole in Step 29.) Place lug on screw and
drive screw into the middle Sol-REG heat sink mounting hole.

OJ( Step 44. Route black transformer leads along side wall of
power supply subchassis out toward the Sol-REG heat sink.
(See Figure 2-4.) Attach one lead to pin 2 of the commoning
block (mounted on fan closure plate) nearest the fan. Attach

q(cother lead to pin 3 of the other commoning block.

(

Ste Using a #6 x % sheet metal screw, attach fan
closure plate to power supply subchassis as shown in Drawing

\A/No. 105001

( Step 46. Push on-off switch in and out to determine the OFF
position (switch mechanically out). With switch in OFF
position, connect AC power cord to AC receptacle. Then plug
power cord into 110 V ac outlet.

(VT/Step 47. Test power supply for proper operation.
(\?’ﬁake sure on-off switch is in OFF position.

(\}—Tﬂgiall fuse in fuse holder.

CAUTION
NEVER INSTALL OR REMOVE FUSE WITH POWER ON.

el ) Check connector on Sol-PC power cable (4 wire) to insure
it is wired as shown in Figure 2-6.

*(vﬁdhheck connector on Sol-20 power cable (5 wire) to insure
it is wired as shown in Figure 2-7.

( Turn on-off switch ON.

‘#"J—#‘Measure the voltages at the Sol-PC connector at the
points indicated in Figure 2-6. The voltages must be
as given in Figure 2-6. *

|

NOTE

Do not take voltage measurements at any
other points in the power supply, even

though they may be more accessible. It
is important that the indicated voltages

be available at the coiﬁector.

Rev A IT-18



Sol POWER SUPPLY

PROCESSOR TECHNOLOGY CORPORATION

SECTION II

*(J Measure the voltages at the Sol-20 connector at the

points
within

NOTE.

(s I the
locate

)

indicated in Figure 2-7.
the ranges given in Figure 2-7. (See preceding

The voltages must be

power supply fails any of the preceding tests,
and correct the cause before proceeding.

If the power supply is operating correctly, turn on-off
switch OFF, disconnect power cord,
side and go on to Section III.

e e — —

Reg = - F—— —=
<
White/Yellow — — — — — 2
-
Green - — — ——
white (Ground) e—see o S (1 8 J - =12 V dc
i

set power supply to one

12 ¥V o

All three voltages have a +5% tolerance.

Sol-PC power connector and voltage measurements.

e — —

NOTE:
Fig 26,
Yellow/White
Red/White
Blue

White (Gnd 1)

v

-
e — —— ]

X

|
|

eld By =323 Y dc

+18 to +23 V dc

-

White (Gnd 2)

o — — — ]

i

<._""+7'.5 to 11 V dc

Figure 2-7. Sol-20 power connector and voltage measurements.

Rev A

II-19



